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lkekU; cqf) ,oa rdZ 'kfDr (Reasoning) 

1- ';ke iwjc dh vksj 5 fdeh pyk vkSj fQj nk;ha 

vksj eqM+dj 3 fdeh pykA og fQj nk;ha vksj 

eqM+k vkSj 4 fdeh pykA blds ckn og ihNs 

eqM+kA bl le; og fdl fn’kk dh vksj Fkk\ ¼bl 

le; mlds lEeq[k dkSu lh fn’kk Fkh½\ 

(A) iwoZ   (B) if’pe 
(C) mRrj  (D) nf{k.k 

2- jke vius ?kj ls 4 fdeh mRrj tkrk gS] fQj 3 

fdeh if’pe] fQj 8 fdeh nf{k.kA og vius ?kj 

ls fdrus fdyksehVj nwj Fkk\ 

(A) 6 fdeh  (B) 7 fdeh 
(C) 5 fdeh  (D) 8 fdeh 

3- ,d ?kM+h igys ?k.Vs ds nkSjku ,d feuV] nwljs 

?k.Vs ds vUr esa nks feuV] rhljs /k.Vs ds vUr 

es 4 feuV] pkSFks ?k.Vs ds vUr es 8 feuV rst 

gks tkrh gSA bl izdkj ;g flyflyk pyrk gSA 

;g crkb, fd fdl ?k.Vs ds vUr esa ?kM+h Bhd 

lkB feuV ls vf/kd rst gks tk,xh\ 

(A) ik¡posa  (B) NBsa 

(C) lkrosa  (D) vkBosa 

funsZ’k%& nh xbZ Js.kh;ksa esa yqIr la[;k dks Kkr dhft,A 

4- 3]4]7]11]18]29]\ 

(A) 31   (B) 39 

(C) 43   (D) 47 

5- 975] 864] 753] 642] \ 

(A) 431  (B) 314 

(C) 531  (D) 532 
funsZ’k% fjDr LFkkuksa dh iwfrZ djksaA 

6- g – – g – – gh – g – i 
(A) hhiihh  (B) jkljkl 
(C) 531  (D) hihiih 

7- 25 – K – 8, 23-I-11, 21-G-14, 19-E-
17, ? 
(A) 17 - F - 19 (B) 19 - C - 17 
(C) 17-C-20 (D) 20-D-17 

8- 
𝐷

5
,
𝐺

9
,
𝐽

14
,
𝑀

20
, ? 

(A) 
𝑞

26
   (B) 

𝑜

26
 

(C) 
𝑞

27
    (D) 

𝑝

27
 

9- nh xbZ J`a[kyk esa yxkrkj rhu ckj P fdurh 

ckj vk;k gS\ 

p t p t t p p t p t p p p q q p t p t t p p p t 

(A) 1    (B) 2  (C) 3      (D) 4 
 

1- Shyam was facing East. He walked 5 km 

forward and then after turning to his right 

walked 3 km. Again he turned to his right 

and walked 4 km. After this he turned 

back. Which direction was he facing at 

that time? 

 (A) East   (B) West (C) North (D) South 

2- Ram Starts from his house and walks 4 

km North, then 3 km west, then 8 km 

South. How many km away from his 

home was he? 

 (A) 6 km   (B) 7 km   (C) 5 km  (D) 8 km 

3- A clock goes fast by one minute during 

the first hour, by two minutes at the end 

of the second hour, by 4 minutes at the 

end of 3
rd

 hour, by eight minutes by the 

end of 4
th

 hour, and so on. At the end of 

which hour, will it be fast by just over 

sixty minutes? 

 (A) Fifth  (B) Sixth 

 (C) Seventh  (D)  Eighth 

Directions:- Find the missing number from 

the given series. 

4- 3]4]7]11]18]29]\ 

 (A) 31   (B) 39 

 (C) 43   (D) 47 

5- 975] 864] 753] 642] \ 

 (A) 431   (B) 314 

 (C) 531   (D) 532 

Directions:- Fill in the blanks. 

6- g – – g – – gh – g – i 

 (A) hhiihh  (B) jkljkl 

 (C) 531   (D) hihiih 

7- 25 – K – 8, 23-I-11, 21-G-14, 19-E-17, ? 

 (A) 17 - F - 19  (B) 19 - C - 17 

 (C) 17-C-20  (D) 20-D-17 

8- 
𝐷

5
,
𝐺

9
,
𝐽

14
,
𝑀

20
, ? 

 (A) 
𝑞

26
   (B) 

𝑜

26
 

 (C) 
𝑞

27
   (D) 

𝑝

27
 

9- In the following series of letters, how 

many times reqularly three times P is 

coming? 

 p t p t t p p t p t p p p q q p t p t t p p p t 

 (A) 1    (B) 2     (C) 3   (D) 4 
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10- fuEufyf[kr J`a[kykvksa esa fudVorhZ v{kjksa ds 

e/; NksM+s x, v{kjksa dh la[;k J`a[kyk esa ,d 

leku gSA fuEufyf[kr esa ls dkSu lh J`a[kyk fn, 

x, fu;e dk vuqikyu djrh gS\ 

(A) URNJ  (B) ZVRO 
(C) HDAW  (D) CYUQ 

11- ;fn FORMATION dks ZSXTJOBSL fy[kk 

tkrk gS vkSj RACIAL dks XJNBJQ fy[kk 

tkrk gSA bl dwV Hkk"kk esa RATIONAL dks dSls 

fy[kk tk,xk\ 

(A) XJOBSIJQ (B) JXOBSLJQ 
(C) XJOBSJLQ (D) JXOBSJLQ 

12- ;fn KASHMIR dks 8142753 fy[kk tkrk gS] 

rks mlh dwV fyfir esa RIMSHAK dks dSls 

fy[ksaxs\ 

(A) 3574218  (B) 3571842 

(C) 3521478  (D) 3574812 
funsZ’k%& fuEufyf[kr iz’uksa esa ,d 'kCn nsdj mlds vkxs 

pkj vU; 'kCn fn, x, gSA muesa ls ,d fn, x, 'kCn 

ds v{kjksa ls ugha cuk;k tk ldrkA ml 'kCn dks Kkr 

dhft,A 

13- SKYSCRAPER 
(A) RAKE  (B) RARE 

(C) PERK  (D) RISK 
funsZ’k%& fuEufyf[kr iz’uksa esa ,d 'kCn nsdj mlds vkxs 

pkj vU; 'kCn fn, x, gSA muesa ls ,d fn, x, 'kCn 

ds v{kjksa ls cuk;k tk ldrkA ml 'kCn dks Kkr 

dhft,A 

14- ARCHITECTURE 
(A) LECTURE  (B) UREA 
(C) CHILDREN  (D) TENT 

15- uhps nks dFku fn, x, gSA vkidks fopkj djuk 

gS fd dFku lR; gS pkgs os lkekU;r% Kkr rF;ksa 

ls fHkUu izrhr gksrs gksaA vkidks fu.kZ; djuk gS 

fd fn, x, dFkuksa ls dkSu&lk fuf’p; :i ls 

lgh fu"d"kZ fudkyk tk ldrk gSA 

dFku 

1- lHkh vkneh eR;Z gSA 

2- jke vkneh gSA 

fu"d"kZ 

(A) dksbZ vkneh eR;Z ugha gS (B) jkew eR;Z gS 
(C) jkew vej ugha gS (D) lHkh vkneh vej 

gS 

16- B ls A vf/kd vehj gSA 

A ls C vf/kd vehj gSA 

C ls D vf/kd vehj gSA 

E lcls vf/kd vehj gSA 

;fn mUgsa vehjh ds mi;qZDr Øe esa fcBk;k tk, 

rks e/; dh fLFkfr esa dkSu gksxk\ 

(A) A   (B) B 
(C) C   (D) D 

10- In the following series the number of letters 

skipped in between the adjacent letters in the 

series is the same. Which of the following 

series observes the given rule? 

(A) URNJ  (B) ZVRO 

(C) HDAW  (D) CYUQ 

11- If FORMATION is written as ZSXTJOBSL 

and RACIAL is written as XJNBJQ. How is 

RATIONAL written in this language? 

(A) XJOBSIJQ (B) JXOBSLJQ 

(C) XJOBSJLQ (D) JXOBSJLQ 

12- If KASHMIR is written as 8142753, how 

RIMSHAK can be written in that code? 

(A) 3574218  (B) 3571842 

(C) 3521478  (D) 3574812 

Directions: A word has been given followed by 

four other words, one of which cannot be 

formed by using the letters of the given 

word. Find that word. 

13- SKYSCRAPER 
(A) RAKE  (B) RARE  (C) PERK (D) RISK 

Directions: A word has been given followed by 

four other words, one of which can be 

formed by using the letters of the given 

word. Find that word. 

14- ARCHITECTURE 

(A) LECTURE  (B) UREA 

(C) CHILDREN (D) TENT 

15- In this question some statements are given. 

You have to consider the statements to be 

true even if they seem to be at variance from 

commonly known facts. You have to decide 

which of the given conclusion, If any 

follows from the given statements. 

Statement 

1- All men are mortal. 

2-  Ramu is a man. 

Conclusion 

(A) No man is mortal  (B) Ramu is mortal 

(C) Ramu is immortal 

(D) All men are immortal 

16- A is richer than B. 

C is richer than A. 

D is richer than C. 

E is the richest of all. 

If they are made to sit in the above degree of 

richness who will be in the middle position 

(Central Position)? 

(A) A   (B) B 

(C) C   (D) D  



 

SSC/GD-                                                   4 

17- N% fe= A,B,C,D,E vkSj F iwjc dh vksj eq¡g 

djds ,d iafDr esa cSBs gSA C chp esa gS A 

vkSj E dsA B, E ds fudVre nk,¡ ysfdu D 

ds ckbZ vksj gSA F nk,¡ Nksj ij ugha gSA A ds 

ckbZ vksj dkSu gS\ 

(A) E    

(B) C 

(C) D    

(D) F 

18- yqIr la[;k Kkr dhft,\ 

 

(A) 25   (B) 52 

(C) 12   (D) 48 

19- 5 4 9 6 

7 5 2 4 

1 3 4 5 

35 60 72 \ 

(A) 116    

(B) 136 

(C) 120    

(D) 126 

20- vkt dsru dk tUefnu gSA vkt ls ,d o"kZ ckn 

mldh vk;q 10 o"kZ igys dh vk;q ls nqxquh gks 

tk,xhA dsru dh orZeku vk;q D;k gS\ 

(A) 19 o"kZ   

(B) 20 o"kZ 

(C) 21 o"kZ   

(D) 22 o"kZ 

 

17- Six friends A,B,C,D,E and F are sitting 

in a row facing East. C is between A 

and E. B is just to the right of E but 

left of D. F is not at the right end. Who 

is to the left of A? 

(A) E    

(B) C 

(C) D    

(D) F 

18- Find the missing number in the given 

figure. 

 

(A) 25    

(B) 52 

(C) 12    

(D) 48 

19- 5 4 9 6 

7 5 2 4 

1 3 4 5 

35 60 72 ? 

(A) 116    

(B) 136 

(C) 120    

(D) 126 

20- Today is Ketan’s birthday. One year 

from today he will be twice as old as 

he was 10 years ago. How old is ketan 

today? 

(A) 19 years   

(B) 20 years 

(C) 21 years   

(D) 22 years 
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lkekU; Kku 

21- dkSUk vk¡/kh ikuh ls lEcfU/kr gS vkSj iqjUnj ds 

:i esa tkuk tkrk gS\ 

(A) lkse  (B) vfXu 

(C) bUnz   (D) o:.k 
22- xqIr dky eas dkO;n’kZ fdlus fy[kh Fkh\ 

(A) vejflEgk   (B) pUnzxksfeu 
(C) nfUMu  (D) okRL;k;u 

23- dsUnz ljdkj }kjk fdl Hkwfe dk iz’kklu izR;{k 

gksrk FkkA bl Hkwfe dk jktLo dsUnz ljdkj }kjk 

fu;qfDr deZpkfj;ksa ds }kjk ,d= fd;k tkrk Fkk\ 

(A) oyh   (B) oDQ 
(C) fgUnw tkxhjnkjksa dh Hkwfe (D) [kkylk 

24- lYrur dky esa fdlus jkt/kkuh dks ykgkSj ls 

fnYyh ifjofrZr fd;k Fkk\ 

(A) dqrqcqn~nhu ,cd (B) bYrqrfe'k 

(C) cycu  (D) [kq’kjksa [kku 

25- iqrZxkyh jktdqekjh ls fookg djus ds ckn fdlus 

cEcbZ dks ngst esa ys fy;k Fkk\ 

(A) baXyS.M dk fdax pkYlZ II 

(B) baXyS.M dk tkWu feYMsu gkWy 

(C) baXyS.M dk fdax tsEl I 

(D) dSIVu fofy;e gkfdax 

26- ejkBk laf/k;ksa dks lgh Øe esa lqesfyr dhft,& 

1- lwjr dh laf/k 2- lkYckbZ dh lfU/k 

3- nsoxk¡o dh laf/k 4- iqjUnj dh laf/k 

(A) 1]2]3]4  (B) 2]3]4]1 

(C) 1]4]2]3  (D) 1]4]3]2 

27- dkSu izFke lkgfld vaxzst ;k=h LFky ds }kjk 

1599 bZ- esa Hkkjr igq¡pk Fkk\ 

(A) fofy;e gkfdUl (B) lj Fkkel jks 

(C) tku feYMsu gky (D) tku ljeu 

28- fdl ok;ljk; us izkphu Lekjd laj{k.k 

vf/kfu;e dks ikfjr fd;k Fkk\ 

(A) ykMZ feUVks II (B) ykMZ gkfMZx II 

(C) ykMZ jhfMax  (D) ykMZ dtZu 

29- fuEufyf[kr dks lgh Øe esa lqesfyr dhft,& 

1- dE;quy vokMZ 

2- iwuk iSDV 
3- rhljk xksy est lEesyu 
4- xk¡/kh th dk gfjtu vkUnksyu 

(A) 1]2]3]4  (B) 2]3]4]1 

(C) 2]3]1]4  (D) 1]2]4]3 

21- Who is associated with thunder and storm 
and also known as Purandra? 
(A) Soma  (B) Agni 
(C) Indra   (D) Vruna 

22- Who wrote kavyadarsha in the Gupta 
Period? 
(A) Amarsimha  (B) Chandragomin 
(C) Dandin  (D) Vatsyayana 

23- Which land was directly administered by the 
Central Government and revenue from such 
land was collected by the officials appointed 
by the Central Government? 
(A) Walis   
(B) Waqf 
(C) Land of Feudatory Hindu 
(D) Khalsa 

24- Who shifted capital from Lahore to Delhi in 
Sultanate Period? 
(A) Qutb-ud-din Aibak  
(B) Iltutmish 
(C) Balban   
(D) Khusro Khan 

25- Who was given Bombay as dowry after 
marrying the Portuguese Princess? 

(A) King Charles II of England 
(B) John Milden Hall of England 
(C) King James I of England 
(D) Captain William Hawkins 
26- Match the following Anglo-Maratha treaties 

in Correct Order. 
1- Treaty of Surat   
2- Treaty of Salbai 
3- Treaty of Deoguon  
4- Treaty of Purandhar 
(A) 1]2]3]4  (B) 2]3]4]1 

(C) 1]4]2]3  (D) 1]4]3]2 

27- Which Merchant adventurer, was the first 
Englishman to arrive in India in 1599 by the 
land route? 
(A) William Hawkins  
(B) Sir Thomas Ro 
(C) John Milden hall  
(D) John Surman 

28- Which Viceroy passed the ancient 
monuments protection act? 
(A) Lord Minto II  
(B) Lord Hardinge II 
(C) Lord Reading  
(D) Lord Curzon 

29- Match the following in correct order. 
1- Communal Award 
2- Poona Pact 
3- Third Round Table Conference 
4- Gandhiji’s Harijan Movement 
(A) 1]2]3]4  (B) 2]3]4]1 

(C) 2]3]1]4  (D) 1]2]4]3  
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30- fuEufyf[kr dks lqesfyr dhft,& 

(A) ,e-ds xk¡/kh  1- yky dqrhZ vkUnksyu 

(B) tokgj yky usg: 2- iw.kZ Lojkt izLrko 

(C) vCnqy x¶Qkj [kk¡ 3- cjnksyh vkUnksyu 

(D) ljnkj iVsy 4- nk.Mh ekpZ 

dwV 

A B C D 

(A)  1 2 3 4 

(B)  4 2 1 3 

(C)  4 2 3 1 

(D)  4 3 2 1 

31- gekjs lafo/kku es ewy drZO; fdl ns’k ds 

lafo/kku ls fy, x, gS\ 

(A) ;w-,l-,  (B) vk;jyS.M 

(C) teZuh  (D) lksfo;r la?k 

32- lafo/kku dk eq[; y{k.k dkSu lk ugha gS\ 

(A) yphys dh rqyuk es vf/kd dBksj 

(B) /keZfujis{k jkT; 

(C) ,d fyf[kr lafo/kku 

(D) vYila[;dksa dks laj{k.k 

33- gekjs lafo/kku esa fdldk o.kZu ugha gS\ 

(A) bafM;k  (B) Hkkjr 

(C) jkT;ksa dk la?k (D) fgUnqLrku 

34- jkT; lwph ls dkSu lk fodYi lacaf/kr ugh gS\ 

(A) iqfyl  (B) d`f"k 

(C) taxy  (D) cSad vkSj chek 

35- eaf=ifj"kn dh v/;{krk dkSu djrk gS\ 

(A) jk"Vªifr   

(B) mijk"Vªifr 

(C) iz/kkuea=h 

(D) ,d ,d djds eaf=ifj"kn ds lnL; 

36- fdl lafo/kku la’kks/ku ds }kjk Hkkjr dh izLrkouk 

eas la’kks/ku fd;k x;k Fkk\ 

(A) 44 ok¡ lafo/kku la’kks/ku 

(B) 42 ok¡ lafo/kku la’kks/ku 

(C) 56 ok¡ lafo/kku la’kks/ku 

(D) blesa dHkh lafo/kku ugha fd;k x;k gSA 

 

30- Match the following- 
(A) M.K Gandhi 1- Red Shirt Movement 

(B) Jawaharlal Nehru 2-Poorna Swaraj Revolution 

(C) Abdul Ghaffar Khan 3- Bardoli Andolan 

(D) Sardar Patel  4- Dandi March 

Code- 

A B C D 

(A)  1 2 3 4 

(B)  4 2 1 3 

(C)  4 2 3 1 

(D)  4 3 2 1 

31- Fundamental duties are enshrined in our 

constitution from which country’s 

Constitution? 

(A) U.S.A   

(B) Ireland 

(C) Germany   

(D) USSR 

32- Which is the not salient Features of the 

constitution? 

(A) More rigid than flexible 

(B) Secular state 

(C) A written constitution 

(D) Protection of Minorities 

33- Which is not mentioned in our 

constitution? 

(A) India  (B) Bharat 

(C) Union of States (D) Hindustan 

34- Which option is not associated from 

State list? 

(A) Police   

(B) Agriculture 

(C) Forests  

(D) Banking and Insurance 

35- The meeting of the council of ministers 

are presided over by- 

(A) The President  

(B) The Vice President 

(C) Prime Minister 

(D) The members of the Council of 

Ministers by rotation 

36- The Preamble to the constitution of 

India was amended by which 

constitution amendment? 

(A) 44
th
 Constitutional Amendment 

(B) 42th constitutional amendment 

(C) 56th constitutional amendment 

(D) It has never been amended 
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37- fuEufyf[kr dks lqesfyr dhft,& 

izikr  jkT; 

(A) gq.Mw  1- fgekpy izns’k 

(B) Iykuh  2- xksok 

(C) nw/klkxj  3- dukZVd 

(D) tksx  4- >kj[k.M 

dwV 

A B C D 
(A)  1 2 3 4 

(B)  2 3 4 1 

(C)  4 1 2 3 

(D)  4 1 3 2 

38- dkSu lh ySxwu >hy ugha gS\ 

(A) fpYdk >hy  (B) iqfydV >hy 

(C) dksYys: >hy (D) owyj >hy 

39- flMsjkbV fdldk v;Ld gS\ 

(A) ikjk  (B) dkWij 

(C) yksgk  (D) ysM 

40- tsV LVªhe D;k gS\ 

(A) ok;q /kkjk  (B) ty /kkjk 

(C) tsV LVªhe dk iz;ksx HkhM+ dks fpFkj&foFkj 

djus esa fd;k tkrk gSA 

(D) ;g ,d rwQku gSA 

xf.kr 

41- ;fn 120] ,d la[;k dk 20 izfr’kr gks] rks ml 

la[;k dk 120 izfr’kr fdruk gksxk\ 

(A) 360   (B) 720    (C) 20 (D) 120 

42- foHkktu ds ,d iz’u esa] foHkktd] HkkxQy dk 3 

xquk rFkk 'ks"kQy dk 6 xquk gSA rnuqlkj] ;fn 

'ks"kQy 2 gks] rks mlesa HkkT; fdruk gksxk\ 

(A) 50    (B) 48     (C) 36 (D) 28 

43- 
1

7
+  999

692

693
 × 99 fdlds cjkcj gS\ 

(A) 1   (B) 99000 

(C) 99800  (D) 99900 

44- eku yhft,  𝑎
3

=  26
3

+  7
3

+  63
3

 

gks rks 

(A) 𝑎 < 729 fdarq 𝑎 > 216 

(B) 𝑎 < 216 

(C) 𝑎 > 729 
(D) 𝑎 = 729 

37- Match the following- 

Falls  State 
(A) Hundru  1- Himachal Pradesh 

(B) Plani  2- Goa 

(C) Dudhsagar 3- Karnataka 

(D) Jog  4- Jharkhand 

Code- 

A B C D 

(A)  1 2 3 4 

(B)  2 3 4 1 

(C)  4 1 2 3 

(D)  4 1 3 2 

38- Which is not a Lagoon Lake? 

(A) Chilka laka (B) Pulicat Lake 

(C) Kolleru Lake (D) Wular Lake 

39- Siderite is the ore of- 

(A) Mercury   

(B) Copper 

(C) Iron   

(D) Lead 

40- What is the Jet Stream? 

(A) Air Current  

(B) Water Current 

(C) Jet Stream is used in disturbing the 

mass population. 

(D) It is a storm. 

Maths 

41- If 120 is 20% of a number, then 120% 

of that number will be\ 

(A) 360   (B) 720 

(C) 20   (D) 120 

42- In a division sum, the divisor is 3 times 

the quotient and 6 times the remainder. 

If the remainder is 2, then the dividend 

is- 

(A) 50   (B) 48 

(C) 36   (D) 28 

43- 
1

7
+  999

692

693
 × 99 is equal to- 

(A) 1   (B) 99000 

(C) 99800  (D) 99900 

44- Let  𝑎
3

=  26
3

+  7
3

+  63
3

 then 

(A) 𝑎 < 729 but 𝑎 > 216 

(B) 𝑎 < 216 

(C) 𝑎 > 729 
(D) 𝑎 = 729 
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45- 6333 × 7222 × 8111
 esa vHkkT; 

xq.ku[k.Mksa dh la[;k fdruh gS\ 

(A) 1221   (B) 1222 

(C) 1111   (D) 1211 

46- 5.1,5.01.5,1.05,1  esa lcls cM+h la[;k dkSu lh 

gS\ 

(A) 1-05  (B) 51.0  

(C) 1-5   (D) 5.1  

47- 
 

4
1

7
−2

1

4

3
1

3
+1

1

7

÷
2

2+
1

2+
1

5−
1
5

 fdlds cjkcj gS& 

(A) 1    (B) 4    (C) 3   (D) 2 

48- ;fn x:y=3:4 rFkk y:z=3:4 gks] rks 

𝑥+𝑦+𝑧

3𝑧
 fdlds cjkcj gksxk\ 

(A) 
13

27
   (B) 

1

3
 

(C) 
73

84
   (D) 

37

48
 

49- 
 72× 363× 175

 32× 147× 252
 dk eku fdruk gksxk\ 

(A) 
55

42
   (B) 

45

56
 

(C) 
45

28
   (D) 

55

28
 

50- ,d feJ/kkrq ds 400 xzke esa tLrk rFkk rk¡ck 

5%3 ds vuqikr esa gSA rnuqlkj] ml vuqikr dks 

5%4 esa ifjofrZr djus ds fy, fdrus xzke rk¡ck 

vksj feykuk pkfg,\ 

(A) 50   (B) 66 

(C) 72   (D) 200 

51- A rFkk B dh vkSlr vk;q 20 o"kZ gSA ;fn A 

dks C ls cny fn;k tk,] rks vkSlr 19 o"kZ gks 

tk,xkA blesa C rFkk A dh vkSlr vk;q 21 o"kZ 

gSA rnuqlkj] A, B rFkk C dh vk;q ¼o"kksZa esa½ 

Øe’k% fdruh gksxh\ 

(A) 18]22]20  (B) 18]20]22 

(C) 22]18]20  (D) 22]20]18 

52- ,d oLrq dh dher esa 10 izfr’kr dh deh gks 

tkus ij] ,d O;fDr 225 : esa ml oLrq dk 25 

fdxzk T;knk [kjhn ldrk gSA rnuqlkj] ml oLrq 

dh ewy dher izfr fdxzk fdruh Fkh\ 

(A) 2 :  (B) 1 : 

(C) 2-50 :  (D) 1-50 : 

45- The number of prime factors in 

6333 × 7222 × 8111 is 

(A) 1221  (B) 1222 

(C) 1111  (D) 1211 

46- The greatest among 5.1,5.01.5,1.05,1  is 

(A) 1-05  (B) 51.0  

(C) 1-5  (D) 5.1  

47- 
 

4
1

7
−2

1

4

3
1

3
+1

1

7

÷
2

2+
1

2+
1

5−
1
5

 is equal to 

(A) 1   (B) 4 

(C) 3   (D) 2 

48- If x:y=3:4 and y:z=3:4 then 
𝑥+𝑦+𝑧

3𝑧
 is 

equal to- 

(A) 
13

27
   (B) 

1

3
 

(C) 
73

84
   (D) 

37

48
 

49- The value of 
 72× 363× 175

 32× 147× 252
 is 

(A) 
55

42
    

(B) 
45

56
 

(C) 
45

28
    

(D) 
55

28
 

50- Zinc and copper are in the ratio 5:3 in 

400g of an alloy. How much of copper 

(in grams) should be added to make 

the ratio 5:4? 

(A) 50  (B) 66 

(C) 72  (D) 200 

51- The average age of A and B is 20 

years. If A is to be replaced by C, the 

average would be 19 years. The 

average age of C and A is 21 years. 

The ages of A,B and C in order (in 

years) are 

(A) 18]22]20 (B) 18]20]22 

(C) 22]18]20 (D) 22]20]18 

52- A reduction of 10% in the price of a 

commodity enables a person to buy 25 

kg more for Rs. 225. The original price 

of the commodity per kg was- 

(A) Rs 2   (B) Rs 1 

(C) Rs 2-50  (D) Rs 1-50 
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53- d izdkj ds nzo esa 20 izfr’kr ty gS vkSj nwljs 

izdkj ds nzo esa 35 izfr’kr ty gSA igys nzo ds 

10 va’k vkSj nwljs nzo ds 4 va’k feykdj ,d 

fxykl esa Hkjs x, gSA rnuqlkj] ml fxykl ds 

u, feJ.k esa ty fdruk gksxk\ 

(A) 37 %  (B) 46 % 

(C) 12
1

7
%  (D) 24

2

7
% 

54- ,d lk{ksnkjh okys O;kikj ds vkjEHk esa] B dh 
iw¡th] A dh 3@2 xquh FkhA 8 eghuksa ds ckn B 
us viuh iw¡th dk 1@2 okil ys fy;k vkSj 10 

eghuksa ds ckn A us viuh iw¡th dk 1@4 okil 

ys fy;kA rnuqlkj] o"kZ ds vUr eas] ;fn 53]000 

: dk ykHk fy;k gks] rks mlesa A dk fgLlk Kkr 

dhft,A 

(A) 30]800 :  (B) 32]000 : 
(C) 30]000 :  (D) 23]000 : 

55- ;fn x]y,z rhu /kujkf’k;k¡] bl izdkj dh gS fd 
,d gh vof/k ds fy,] ,d tSlh lk/kkj.k C;kt 

nj ij x] y ds lk/kkj.k C;kt ds cjkcj gS vkSj 
z] y ds lk/kkj.k C;kt ds cjkcj gS] rnuqlkj] 
fuEu esa D;k lgh gS\ 

(A) z2=xy  (B) xyz=1 
(C) x2=yz  (D) y2=zx  

56- eksgu us viuh ?kM+h 10 izfr’kr gkfu ij csphA 

;fn mlus mlh dks : 45 vf/kd ij cspk gksrk] 

rks mls 5 izfr’kr ykHk feyk gksrkA rnuqlkj] 

ml ?kM+h dk foØ; ewY; fdrus : Fkk\ 

(A) 300  (B) 900  (C) 110 (D) 270 
57- ,d foØsrk dks 36 larjs cspus ij 4 larjksa ds 

fcØh ewY; ds cjkcj gkfu gksrh gSA rnuqlkj] 

mldh gkfu fdrus izfr’k gS\ 

(A) 12
1

2
%  (B) 9% 

(C) 10%  (D) 11
1

2
  % 

58- 30 izfr’kr rFkk 20 izfr’kr dh Øfed NwVsa] 

fdrus izfr’kr dh ,dy NwV ds cjkcj gS\ 

(A) 50%  (B) 40% 

(C) 44%  (D) 10% 

59- ;fn 
𝑥𝑦

𝑥+𝑦
= 𝑎,

𝑥𝑧

𝑥+𝑧
= 𝑏 rFkk 

𝑦𝑧

𝑦+𝑧
= 𝑐 gks] 

tgk¡ a, b, c  lHkh 'kwU;srj la[;k,¡ gS] rks x 
fdlds cjkcj gksxk\ 

(A) 
2𝑎𝑏𝑐

𝑎𝑏+𝑏𝑐−𝑎𝑐
  (B) 

2𝑎𝑏𝑐

𝑎𝑏+𝑎𝑐−𝑏𝑐
 

(C) 
2𝑎𝑏𝑐

𝑎𝑐+𝑏𝑐−𝑎𝑏
  (D) 

2𝑎𝑏𝑐

𝑎𝑐+𝑏𝑐−𝑎𝑐
 

60- ;fn 6𝑥 − 5𝑦 = 13, 7𝑥 + 2𝑦 = 23gks] rks 

11𝑥 + 18𝑦 fdlds cjkcj gksxk\ 
(A) &15  (B) 51  (C) 33 (D) 15 

53- One type of liquid contains 20% water 
and the second type of liquid contains 
35% of water. A glass is filled with 10 
parts of first liquid and 4 parts of second 
liquid. The water in the new mixture in 
the glass is- 
(A) 37 %  (B) 46 % 

(C) 12
1

7
%  (D) 24

2

7
% 

54- At the beginning of a partnership 
business, the capital of B was 3/2 times 
that of A. After 8 months B withdrew half 
of his capital and after 10 months A 
withdrew 1/4th of his capital. At the end 
of the year, if the profit incurred is Rs. 
53,000. Find the amount received by A? 
(A) Rs 30,800 (B) Rs 32,000  
(C) Rs 30,000 (D) Rs 23,000 

55- If x, y, z are three sums of money such 
that y is the simple interest on x and z is 
the simple interest on y for the same time 
and at the same rate of interest, then we 
have. 
(A) z

2
=xy  (B) xyz=1 

(C) x
2
=yz  (D) y

2
=zx 

56- Mohan sold his watch at 10% loss. If he 
had sold it for Rs 45 more, he would have 
made 5% profit. The selling price (in Rs) 
of the watch was ? 
(A) 300  (B) 900 

(C) 110  (D) 270 

57- A vendor loses the selling price of 4 

oranges on selling 36 oranges. His loss 

percent is- 

(A) 12
1

2
%  (B) 9% 

(C) 10%  (D) 11
1

2
  % 

58- Successive discounts of 30% and 20% is 

equivalent to a single discount of- 

(A) 50%  (B) 40% 

(C) 44%  (D) 10% 

59- If 
𝑥𝑦

𝑥+𝑦
= 𝑎,

𝑥𝑧

𝑥+𝑧
= 𝑏  and 

𝑦𝑧

𝑦+𝑧
=

𝑐 where a,b,c are all non-zero numbers, 
then x equals to- 

(A) 
2𝑎𝑏𝑐

𝑎𝑏+𝑏𝑐−𝑎𝑐
  (B) 

2𝑎𝑏𝑐

𝑎𝑏+𝑎𝑐−𝑏𝑐
 

(C) 
2𝑎𝑏𝑐

𝑎𝑐+𝑏𝑐−𝑎𝑏
  (D) 

2𝑎𝑏𝑐

𝑎𝑐+𝑏𝑐−𝑎𝑐
 

60- If 6𝑥 − 5𝑦 = 13, 7𝑥 + 2𝑦 = 23 then 

11𝑥 + 18𝑦 is equal to- 

(A) -15  (B) 51 
(C) 33  (D) 15 
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ENGLISH 

uksV& vks-,e-vkj- lhV ij tks Nk= bafXy’k ehfM;e ls 

gS rks og vko’;d :i ls vks-,e-vkj ij bafXy’k 

ehfM;e fy[ks vU;Fkk vks-,e-vkj lhV pSd ugha dh 

tkosxhA  

Directions:- In the following questions, some 

parts of the sentences have errors and some 

have none. Find out which part of a sentence 

has an error. The number of that part is your 

answer. If a sentence is free from error, then 

your answer is- 

61- Having deprived of their houses (A) in 

the recent earthquake (B)/ they had no 

other option but to take shelter in a 

school.(C)/ No error (D) 

62- He (A)/ is addicted (B)/ with smoking. 

(C)/ No error (D) 

63- Entering the hotel (A)/ he ordered for 

(B)/ a drink and a sumptuous dinner. 

(C)/ No error (D) 

64- He is (A)/ your brother (B)/ isn’t it? 

(C)/ No error (D) 

65- I have (A)/ known him (B)/ since two 

years. (C)/ No error (D) 

Directions:- In the following questions, 

sentences are given with blanks to be filled in 

with an appropriate word (s). Four 

alternatives are suggested for each 

questions. Choose the correct alternative out 

of the four as your answer. 

66- There were……….. participants at the 

conference than we had expected, so 

we had trouble seating them. 

(A) much more (B) many more 

(C) so many  (D) too many 

67- Men…………. are thinkers look for 

facts. 

(A) who   (B) that 

(C) which  (D) those 

68- Asha and Rima could not get 

admission in the college……….. they 

had already managed to get a passing 

score in the official exam. 

(A) even though (B) now that 

(C) therefore (D) whether 

69- The Principal congratulated 

him……….. passing the final exam. 

(A) in   (B) of 

(C) on  (D) with 

70- Thank you very much………… your 

suggestions. 

(A) on  (B) with 

(C) about  (D) for 

Directions:in the following questions out of 

the four alternatives, choose the one which 

best expresses the meaning of the given word 

as your answers. 

71- Assault 

(A) attack  (B) comfort 

(C) construct (D) attach 

72- Protrude 

(A) lengthen  (B) uphold 

(C) bulge  (D) refute 

73- Accomplish 

(A) surrender (B) achieve 

(C) forsake  (D) abandon 

74- Apex 

(A) bottom  (B) outward 

(C) top  (D) inward 

75- Baffle 

(A) strike  (B) puzzle 

(C) flutter  (D) surpass 

Directions: In the following questions, 

choose the word opposite in meaning to the 

given word as your answers. 

76- Philanthropic 

(A) self-centred (B) benevolent 

(C) benign  (D) unsparing 

77- Opulent 

(A) poor  (B) sumptuous 
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(C) dropping (D) wealthy 

78- Recede 

(A) advance  (B) retrograde 

(C) retreat  (D) withdraw 

79- Perpetual 

(A) intermittent (B) frequent 

(C) continuous (D) rare 

80- Unruly 

(A) uneven  (B) undue 

(C) orderly  (D) dirty 

fgUnh Hkk"kk 

uksV& vks-,e-vkj- lhV ij tks Nk= fgUnh ehfM;e ls gS 

rks og vko’;d :i ls vks-,e-vkj ij fgUnh ehfM;e 

fy[ks vU;Fkk vks-,e-vkj lhV pSd ugha dh tkosxhA 

61- Hkk"kk dh ewy bdkbZ gS& 
(A) 'kCn  (B) /ofu 

(C) o.kZ   (D) O;atu 
62- daB~; /ofu;k¡ dkSu&lh gSa& 

(A) d] ?k  (B) i] j 

(C) p] t  (D) V] .k 
63- fuEu esa ls *vYiizk.k* o.kZ dkSu&ls gSa& 

(A) v] vk  (B) d] x 

(C) Fk] /k  (D) i] Q 
64- fuEu esa ls dkSu&lk ?kks"k o.kZ gS& 

(A) [k   (B) p 

(C) e   (D) B 
65- *K* o.kZ fdu o.kksZa ds la;ksx ls curk gS& 

(A) t~ $ ´  (B) t $ ´ 

(C) t $ /k  (D) x $ ; 
66- 'kq) crZuh dk p;u dhft,& 

(A) r:.k  (B) r:.k 

(C) r:u  (D) r:u 
67- 'kq) crZuh dk p;u dhft,& 

(A) mrlo  (B) mRlo 

(C) mLro  (D) ÅRlo 

68- lfU/k ds izdkj gksrs gSa& 
(A) 3   (B) 4 

(C) 5   (D) 6 

69- Loj lfU/k dk Hksn ugha gS& 

(A) y?kq lfU/k  (B) nh?kZ lfU/k  

(C) o`f) lfU/k  (D) ;.k~ lfU/k 

70- ^n;kuUn* esa iz;qDr lfU/k dk uke gS& 

(A) xq.k lfU/k  (B) nh?kZ lfU/k 

(C) ;.k~ lfU/k  (D) v;kfn lfU/k 

71- ifo= es iz;qDr lfU/k dk uke gS& 

(A) ;.k~ lfU/k  (B) v;kfn 

(C) nh?kZ lfU/k  (D) o`fê lfU/k 

72- fujk’kk dk lgh lfU/k foPNsn gS& 

(A) fujk$vk’kk  (B) fuj$vk’kk 

(C) fu%$vk’kk  (D) fuj%$vk’kk 

73- fuokZflr esa izR;; gS& 

(A) bd  (B) fu 

(C) flr  (D) br 

74- ^izfrdwy* 'kCn esa dkSu lk milxZ iz;qDr gS\ 

(A) iz   (B) izfr 

(C) ifj  (D) dwy 

75- ^lko/kkuh* 'kCn eas izR;; gS& 

(A) bZ   (B) b 

(C) /kkuh  (D) vkuh 

76- izFke in iz/kku gksrk gS& 

(A) vO;;h Hkko esa (B) deZ/kkj;  

(C) f}xq  (D) }U} 

77- ¼HkjisV½ esa dkSu lk lekl gS& 

(A) deZ/kkj;  (B) f}xq 

(C) vO;;hHkko  (D) cgqczhfg 

78- lekl ds izdkj@Hksn gksrs gS& 

(A) 4   (B) 5 

(C) 6   (D) 7 

79- ^jktk dk x`g* esa dkSu lk lekl gksxk& 

(A) deZ/kkj;  (B) f}xq 

(C) }U}  (D) rRiq#"k 

80- lekl dk 'kkfCnd vFkZ gS& 

(A) la{ksi  (B) foLrkj 

(C) foxzg  (D) foPNsn 
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